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Low sl §d R4RSf S A 5 mytoy+ky=0» % ¢ FE m=10kg-
S ¥ e k=90Kg/seC’ » A= 4 A diiE B A N 5 y(0)=0.16 &
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tH W GH* S HER > 7 ¥ £3)

(1) c=100 kg/sec (2) c=60 kg/sec (3) c=10 kag/sec

2. Kfz J)+yt)=cosat, T ¥ Foda i A deid R A WL y(0)=0g
y(0)=0 » &4
(1) ®=05 (2) ®=099 or 1.01  (3) w=1
Higd > g0 202 F yt)=? ZTHFEFtEIHE -
GF* Az g m »*23)
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3. A= , BE G det(A)=?
s 2 1 1 # (A)
2 4 -2 9
TiRE:

1. (1) y(t)=-0.02¢* +0.18¢™"
(2) y(t)=(0.16+0.48t)e™
(3) y(t)=e " (0.16c0s2.96t + 0.027sin 2.96t) = 0.162e**' cos(2.96t —0.17)
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2. (1) y(@) :%(cosO.St—cost)
(2) y(t) =-49.7512(cos1.01t — cost)

3) y(t):%sint
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